
 NHO DIRECTIONALITY AND BOND BENDING (deviations from line of nuclear centers)

         [Thresholds for printing:  angular deviation  >  1.0 degree]
                                    p- or d-character  > 25.0%
                                    orbital occupancy  >  0.10e

                       Line of Centers        Hybrid 1              Hybrid 2
                       ---------------  -------------------   ------------------
           NBO           Theta   Phi    Theta   Phi    Dev    Theta   Phi    Dev
 ===============================================================================
   1. BD ( 1) C 1- C 2    90.0  180.0    90.0  203.5  23.5     90.0  -23.5  23.5
   2. BD ( 1) C 1- C 3    90.0  120.0    90.0   96.5  23.5     90.0  323.5  23.5
   3. BD ( 1) C 1- H 4    32.6  330.0    34.8  330.0   2.2      --     --    --
   4. BD ( 1) C 1- H 7   147.4  330.0   145.2  330.0   2.2      --     --    --
   5. BD ( 1) C 2- C 3    90.0   60.0    90.0   83.5  23.5     90.0  216.5  23.5
   6. BD ( 1) C 2- H 6    32.6  210.0    34.8  210.0   2.2      --     --    --
   7. BD ( 1) C 2- H 9   147.4  210.0   145.2  210.0   2.2      --     --    --
   8. BD ( 1) C 3- H 5    32.6   90.0    34.8   90.0   2.1      --     --    --
   9. BD ( 1) C 3- H 8   147.4   90.0   145.2   90.0   2.1      --     --    --


	thresh_b: 
	thresh_t: Entries are printed only if (1) bond bending exceeds 1.0 degree, (2) s-character is less than 75%;, and (3) the hybrid contains at least 0.1 e.
	line_b: 
	line_t: The line-of-sight direction from A to B in the A-B bond NBO
	hyb1_b: 
	hyb1_t: The first hybrid, h(A), of the A-B bond NBO
	hyb2_b: 
	hyb2_t: The second hybrid, h(B), of the A-B bond NBO
	lc_b: 
	lc_t: Polar (theta) and azimuthal (phi) angles of the vector between nuclear centers A-B
	pol1_b: 
	pol1_t: Polar and azimuthal angles of h(A) toward direction of maximum hybrid amplitude
	dev1_b: 
	dev1_t: The deviation angle (degrees) between h(A) and the direct line of sight to nucleus B
	nbo_b: 
	nbo_gb: 
	nbo_t: The C(1)-C(2) bent-bond NBO bulges downward below the base of the cyclopropane triangle
	nho1_b: 
	nho1_gb: 
	nho1_t: The C(1) hybrid points 23.5 degrees away from (below) the C(2) nucleus
	shyb: 
	b: 

	shyb_t: No entry is printed for the hybrid on H(4) because it is isotropic (pure s-type)


